Intensity (arb.)

0.000020

0.000018

0.000016

0.000014

0.000012

0.000010

0.000008

0.000006

0.000004

0.000002
0

GOES 1-8A

ABIC ;y_, = 48.4

500
Start time 2014-02-11T16:34:01

1000 1500 2000

2500

Fourier power

10-10

102

Power Spectral Density (PSD) - Model O
R ' L ' L '

10" F
10° |
10" |

10% |

10° |
107 |+
10 |-
107 |-

—— data
—— Dbest fit

10

107
frequency (Hz)

Fourier power

10 Power Spectral Density (PSD) - Model 1
\\\\\I 1 \\\\\\\I 1 L L 1

|
10" F
10° |

|
|
|
|
|
10" | !
|
|
|
|
|
|

10% |

10° |

107 |
10% |
10° |

a=4.01
f, =0.020 Hz = 49.96 s
o =0.250

e = e = - e - -

data
best fit
20

=1.03

10710 S R
10 1073 107

frequency (Hz)

Fourier power

102

Power Spectral Density (PSD) - Model 2
R ' L ' L '

10" F
10° |
10" |

10% |

10° |
107 |+
10 |
107 |

—— data
—— best fit

1 0-10
107

107
frequency (Hz)




